é}_) @130mm Panel Coupling Kutu igerigi %
ARME N DUS ( @130mm Pano Baglantisi ) Product Box Content

SUPPORT ARM & ENCLOSURE SYSTEMS.

TS EN 50085-1
TS EN I[EC 61439-1 4x

m M6x 30
O

4x J6.4
WARRANTY
Sari renkli banti gikariniz. Yapiskan yizeyi iceri Profili ok yoninde igeri dogru yerlestiriniz.
gelecek sekilde contayi yerlestiriniz.
( Insert the profile into the coupling as shown in the picture
(Remove the yellow tape. Place the gasket with the adhesive below )

surface inside)

| -

»

www.armendus.com




3 Mé6x30 profil civatalarini montaijlayin.

(Assemble the M6x30 profile bolts)

J6.4 (x4)
M6 x 30 (x4)

5 Panonun dogru montajlandigini kontrol ediniz.

(Check that the panel is mounted correctly)

www.armendus.com

ModUlU panel Gzerine yerlestiriniz.

(Place the module on the panel)

Mé6x30 (x4) Civatalar kutu igerigine dahil degildir.

(M6x30 (x4) Bolts are not included in the box)

M6 x 30 (x4)

Pano Uzerine agilmasi gereken civata baglanti
delikleri ve kablo gegis delik dl¢ileri.

(Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

84.00

@71.00
84.00
——— -
@?118.79




